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QUESTION 1

For which two of these purposes can you use model views? 

A. To create analysis views for specific slices of data 

B. To assign data grants to specific slices of data 

C. To filter the results when tracing allocations or performing rule balancing 

D. When mass editing rules, to limit the edits to a subset of the data 

E. When copying POVs, to limit the copy to a subset of the data 

Correct Answer: AE 

 

QUESTION 2

Which are valid parts of an Analysis View Definition? 

A. a Row Dimension and multiple Column Dimensions and a Rule Set 

B. a Row Dimension and a Column Dimension and a range of Rule Sets 

C. a Row Dimension and multiple Column Dimensions 

D. a Row Dimension und a Column Dimension und a Rule Set 

E. a Row Dimension and a Column Dimension 

Correct Answer: B 

 

QUESTION 3

Which two statements are true about the Simple Workflow mode in Data Management? 

A. It provides a performance Improvement when processing large volumes of data 

B. You can view data in the Workbench after loading. 

C. It limits data movement between staging tables. 

D. It is the default mode for processing data. 

E. Drill down Is supported. 

Correct Answer: BE 

 

QUESTION 4
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Which statement Is FALSE about this EPM Automate command? 

A. It will fail if the user does not have the Service Administrator role. 

B. It will load data from profitdata1.txt data then run all rules in rule1, txt 

C. It will fall If ruiei.txt and profitdatai.txt are not uploaded to the profitinbox first. 

D. It will clear data from the slice of the database referenced in the data file and leave other data intact. 

Correct Answer: C 

 

QUESTION 5

You want to limit the slices of data your users can view or work with. Which two security mechanisms can you use? 

A. Security filters 

B. Service roles 

C. User groups 

D. Application roles 

E. Data grants 

Correct Answer: AD 
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